EE 2240

Homework Problem #008
For the circuit shown below:
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a. Does component 4 absorb power or deliver power? How do you know?

544799"35 e '\")S.C = abywrby Fowcr\
Y= Gov)(2za) ~ 2zZoW

b. Does component B absorb power or deliver power? How do you know?
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¢. Does component C absorb power or deliver power? How do you know?
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d. Does component D absorb power or deliver power? How do you know?

Vo - ?o b ‘.5 ~ o - = 5\/ g
=y Does aot ‘343»*"‘% e P50 = delivers i

P= (sy)(2za) = oW

e. Show that power is conserved.
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